Solutions to Chapter 6-Chapter Test.notebook

\S\%p’fi’ow S=>CHAPTERG - CHAPTER TEST

b

MULTIPLE CHOICE

1. Which pa:abola co!rcspcﬂds to the greatest value of ¢, the constant coefficient
in the functiony = & + bx + ¢?

A ST
i 4
3 5
i 1 2]

v .

2. Which of these equations represents the parabola shown?

-4-}’ (.5:‘*)
A y=—x(x—5)+1 (C)y=-»+6x—5 2-/\'

B.y=—22—6x+5 D.y=—(x—57+1

= ax-r)(x-s)
== (x-1)(x-95)
= = (x=Sx-1x+5)
a= - (X*Gx+5)
= —X*+6x-5
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3. What s the vertex of flx) = —0.5(x + 42 — 22 Uertex (-4,~2.)
A. (4, —2) B. (2, —4) C. (2, —4) D) (-4, -2)
4. What is the equation of the axis of symmetry of f{x) = —5x{x — 7) + 21? L;oﬁ‘f(l'\‘\'j
Ly 2 pcin"r.s with a y-coordinate of Jl. factored)
-;5 %=O or X-1=0

5 =5 x=7
¥ =0
(0,21) (1,2.1)
Axis of Symmeﬁrrﬂ 1S midway between
These points. =0+
5
X=3.5

A x=7 B.x=0 @1=3.5 D.x=—7
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5. Which equation is a quadratic equation in standard form?
A =33 +2x—5=0 B.2¢-5x=15 C fl)=22+3x—5 4:@—6::
6. Select the one correct statement about the quadratic equations corresponding T
to these graphs.

A. Equation I has no solution.

Equations I and III each have ar least one real solution.

Equati.o;l i
C. Each equation has at least one real solution. , _‘&Z

o733
> Eqdationn

-4 =2

D. Equation IT has two solutions.

7. 'The graphs of f(x) = 5.5%* + x — 1.1 and g(x) = 4x(3 — x) are shown. fx) = 55x% + x — 11

Estimare the roots of 5.5x° + x — 1.1 = 4x(3 — x). ; \\0%
X
(©)x= PR SERW
Ei

A x=—0landx=—1.2 = —0landx=13

B. x=13andx= 8.8 D.x=-12andx= 8.8 '
glx) = 4x(3 — x)
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8. Which of the following are roots of x¥* — 9x — 52 = (?
A ™
Ls X*-9qx-52=0
(x=13)(x+H4)=0
X—13=0 or X+4=0

v=13 X ==
A x=—dandx= —13 @xz—liandx:lﬂ
B. x=4andx= —13 D.x=4andx =13

10. Which parabola corresponds to the quadratic function y = 2x* + 4x — 16?
L,} = X%+ 2.)("?
O=x*+2x-%
O= &+ (x-2)
Y+4=00r X-2=0
==Y W=2,
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11. Can you solve x* + 14x — 19 = 0 by facroring? How do you know?
@No; 14* — 4(1)(—19) = 272, which is not a perfect square.
B. Yes; 147 — 4(1)(—19) = 272 > 0.
C. Yes; because 14* — 4(1)(—19) = 272, which is a perfect square.
D. It is not possible to answer this question.

12. Use the quadratic formula to determine which of the following are roots of
the equarion 4.4x* + 4.3x — 5 = 0.

a=44,b=4.3, c=-5

X = —4.3 (@3 =A@ 4)=S)
244)
X=-43+ JI849+ %8
%8
X =-4,3+\106.49
€.%
X=-4.3t10.3
5.3
A=-13+10.3 or X=-4.5-10.3
<% Y
©U=0.6% X=-1.60b
A. x= 0.68 and x = 1.66 (C)x =068 and x= 1.6

B. x= —0.68 and x = 1.66 D. x = —=0.68 and x = —1.66
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NUMERICAL RESPONSE
13. a) Identify the following information for the parabola shown.
x-intercepts: (=5 ,0), (1 ,0) y-intercept: (0, 2.)
axis of symmetry: x = = | vertex: (=, 3
b) Whar is the range of the function corresponding ro this parabola?

range: {y |y = 3,y ER}

14. Therootsof ¥ + 17x — 38 =0arex= = |9 andx= 2.
Ly X*+17x-32=0
(x+19)(x-2)=0

X+19=0 or X—2.=0
X=-19 X=22
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15. The roots of x* — 2x = 323 are x = IH andx=-ll .
> X%2-2%x —~323=0
a=l, b=-2,c=-323

Y=-bE b>*-44ac

2a -
X= 2, JE2240)(E323)
r'z(\)
XK=\ 441999

Y
X= D%\ 193¢
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16. The quadraric function y = —5x(x + 4) + 7 has been partially factored.

Ls 2. points with q - ccar rdinate of 7

—&(- D 0C  X+4=0

-5 x = -4

'x:o -4,71)

o, 1)
>Akisof Symmetrye  X= Q-4

' 2

X = -4

2,
X=-2,

a) Determine the equation of the axis of symmetry of the function: x = = 2,

To determine Veryex o
B-—-ﬁ(z)[%%]ﬁl
Y= 10 (2)+7
":j'— Qt"-’t—"'

Y=

b) Locate the vertex of the function: (=2,27)

¢) Write the funcrion in vertex form: y= -_S{x +2 P+27
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17. Suppose you were to use the quadratic formula to solve these equations.
What values of @, &, and ¢ would you use in each case?

a) X —2x+1=0 b) 2(x—12-1=0
a= 3 b=2.e= | _ a="2.6=4,:=-3
Ly —2(X=1)(X=1)~|
=9 {2 {y-ixa1]=]
-2 (x*=2x+1)-|
22X Yy-2 |
—“2X*+Hu-3
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18. Use the quadratic formula to determine the exact roots of each quadratic

equation.
@) 7€ +3x-2=0 b) 4 - 2x+3=0__
= O INES -]+
“:—._IM Sihes roots: X = ATk
a=7], Ih=3,C== O==4,he=2 C=3

x=-b £{ b 4ac

Q. L 2a

= —3EJ@EHOE2)  x=2 F E2)2HENE)
2) 2.64)
X="3ENIL+S 6 X=2F.]4+4%

o -
X="3EN63_ xX= 2,552
|~ %
X=2FJ4%X13
— g o
x=2%2]13
4
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WERITTEN RESPONSE
21. Skewch the graph of the quadratic funcrion flx) = —«* + 10x = 9,
State irs domain and range.

Ly O=-x*+10x-9 ' X-intercepts!
O=-(x*~10x+9) C1,0) and (9,0
O=-1(x=) ) =x-9) .

+ T U-iotercept.
= T w c=a.rs
Lixis of Symmetry | c=C-1(-1)&9)
A= 19 N C=-9
S
A= A0
X=5
F$)=-("H0E)- % Verkex (5,16)
= -J3+50-9 '
= b
J | - :
GRAPHS = i Demain -
18
e xlxer?
14 /
12 Range.
1o - ot
hi I EAT A L
2}
K3
o
Lo T8 g 11 If
=
-
L |
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22. Jill braked to avoid an accident, crearing skid marks 60 m long. For Jill's car
on a dry road, the equation for stopping distance is 4 = 0.0081¢" + 0.1375,

where d is Jill's stopping distance in metres and ¢ is her speed in kilometres
per hour. How fast was Jill driving?

Ls d=¢0Om
d=0.008IS*+0.137s
0= 0.00%IS*+0.131s
O= 0.00818*+0.131S-60
a=0.008! b=0.137, c=-60

==b¥lbtfion
= 1 E— =
X = — Q.37 VI3V 4(0.0081)(-c0)
_2(0.0081)
O.137 £ No.019+ l.a44

A=-QU3T+ YOl or X =-QA37T=.-NOI
DC‘lE!Qa O Qr'{_\

xX= "13.0 Hm!i %= =94.9 (speed cannct

be negathive)

W

B

Jill was driving 780 Km/h.
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23. Write the equation in vertex form of the parabola shown.
Y=aQ (x-RK)*+ K To determine a":
n=a (x+3)*-2 1=q(-e§3J‘~2
ol - = a(-3)*-2
'.:..'?‘Ilj-—--%(_x*ﬁ-'S} 2} 'IT-Q(_Q)"L
| =Qaq-2-
3 =%q
9 4
d.=q

3
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